RERIEMERSRAERR (BER)

[ 2]

S 245158 81E

U Sv/h
— &5 BIESZAT BIERR

@ F [ 474810

b 1|TUbSoRBR—ILE 0.07

2| TtERREA-1 0.04

o 3| RERTEA-2 0.04

4|TEERREA-3 0.04

5|t EIREREB 0.04

6|EE=E 0.05

TEEE 0.05

(18] 8|EE 0.05
[E=1TEE20]

9| EERERIREA 0.04

—_ 10| & B REB 0.05

11 |BEREBREC 0.05

— 12 | B R=ED 0.05

AEM R REGHRE) Tm




RBERIIXMERSRAERR (B

BXERETY7

N

N 7

SH2E5H158BI%E
1 Sv/h
= B 35 A BIERER
1|IEE R E TR 0.09
2| %Kit B A1 4 {iR
3| EMTERTR{AIE £ 1Tk
4| 1E & BRI 2 S {1k 0.11
5| ZEARBIZ AP R
6|LOTEMERBES E PR 0.08
11BRAERRET 0.09
8| & 8 st 76 4RI 1 B 0.09
9| {Al 5T w5 0.07

10(BFEE5h R

BIEM R E1m



	sokutei_naka200515
	sokutei_soto200515

